
Chemistry 161a - Fall 2018 Chapter 3 Quiz 

x~ Name: __ Sa_f'i\_ lJ.._e_\_R_ -_\ V_f_i'l_d ___ _ 

In an experiment to determine the amount of vitamin C (C6Hs06) in a commercial tablet, 0.08 
g of the tablet powder was reacted with 13. The following reaction occurs: 

<:,<_;:.~:;,~ ~ -g-H~l 3 (aq) • 3 1- (aq) + 2 H+ (aq) + C6 H6 0 6 (aq) e ¥--........ 

If 6.0 x 10- 4 mol of 1- was obtained in the product, what is the mass percent of vitamin C in 
the tablet? You may assume 100% yield for the reaction above. 

(The molecular mass of C6 H8 0 6 is 176.13 g/mol.) 
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Chemistry 161a - Fall 2018 Chapter 3 Quiz 

Name: \]Q('f5SQ BIOS 
98DH~ 

In an experiment to determine the amount of vitamin C (C6Hs06) in a commercial tablet, _QJ2_8 
_g_of the tablet powder was reacted with 13. The following reaction occurs: 

C6H8 0 6 (aq) + 13 (aq) • 3 1- (aq) + 2 H+ (aq) + C6H60 6 (aq) 

If~ .O x 10- ~ ol ofl- was obtained in the product, what is the (miJ.sS 2ercen !]of vitamin C in 
the tablet? You a ssu mtl 00 % .. Y.ield for the reaction above. _. 

(The molecular mass of C6 H8 0 6 is 176.13 g/mol.) 
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